Number Problems:

1) If a certain number is decreased by 9, the
result 1s 24. What 1s the number?
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2) Twice the sum of a number and 4 is equal to
22. What is the number?
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3) If 4 more than' ?vxlf‘i-'ce a number 1s 18, find the
number.
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4) If three times a certain number is increased by
4, the result 1s 19. what is the number?
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5) If 3 times a number is decreased by 5, the
result is 7. Find the number.
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6) The sum of two numbers is 240. The larger
number is 6 less than twice the smaller. Find the

numbers.
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7) If the sum of a number and 4 is multiplied by
two, the result 1s 28. What is the number?

Led n=dhe #
&((\_\ L\): Zg
QI\T g= 28
2N0
n=I1o




	Page 1: Jan 9-9:01 AM
	Page 2: Jan 9-9:03 AM

